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Question Number : 1 Question Id : 3838232401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Example for RNA containing viruses

@S0 $DA &) IV G

Options :

Small pox virus and TMV
1 % IO I (D) SBR OB ¢3aHo

Adeno virus and HIV
, % ©AS SER HOW TFEH

TMV and HIV
3. ¢ 3000 NBAN WY

Adeno virus and TMV
4 % OB BED SHBCK E30HOD

Question Number : 2 Question Id : 3838232402 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Asexual spores are generally not found in

DGO @BoRE DPDFD A’ KHAONT 0



Options :

Basidiomycetes

| v BIATBrRED

Deuteromycetes

2. % @56366@?\}93?}

Ascomycetes
3 % OV

Phycomyectes
4 % DTVED

Question Number : 3 Question Id : 3838232403 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1Bod 5°¢3Q 23¢5 DBt
Table — 1 Table — 11
HEE —1 HEIE — 11
A | Diplontic I Spirogyra
S 500Ve3E0 2818
B | Diplo-biontic I Laminaria
& £- 50DV BE0 e BOST
C | Haplo-diplontic IIT | Polysiphonia
8- S 50HVeIE0 TO VIO
D | Haplontic IV | Fucus
D8e3go S 5ER

The correct answer 1s

ASJOINESIN U/ aRNTe!



Options :

1 % A-IV, B-1, C-II, D-III
5 % A-IIL, B-1V, C-II, D-I
5. v A-IV, B-III, C-I1, D-I

4 % A-IIL, B-II, C-1V, D-I

Question Number : 4 Question Id : 3838232404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sexual reproduction in plants was discovered by

08,0 BoRE (De805e5 183D RS A

Options:

Linnaeus

|« OO0

Camerarius

2 ¢ SPN0OANV

Hutchinson

R SR AN

Bessey



Question Number : 5 Question Id : 3838232405 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
[dentify true sentences regarding leaf modifications in Nepenthes
TD0HR | SEFr0s 5050 H02208 ONGTY 85300 HBOHSN
A. Petiole upper part is modified into tendril
B39O0 €3 2750 SOSAM EraroeFaid
B. Petiole lower part is modified into phyllode
09050 BNHIZTHO (22PN BP0 ed))
C. Lamina is modified into pitcher
QSAF0 §rerr Gralroed G0
D. Petiole lower part 1s modified into lid of pitcher

25039050 B1I2PH0 872 aT T GEFralr0ed G
Options :

B,Cand D

A,Band C
>« A, B O8aw C

A,Band D
3 % A, B8aw D

A,Cand D
4 % A, CBA D

Question Number : 6 Question Id : 3838232406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Male flowers, female flowers and sterile gall flowers are present in
B YL IO, (R LI SO 5098 TS Sy yen DS’ Goeron

Options :

Polychasial cyme

| % DIVTDAD D

Verticillaster

>, & DQITRO

Cyathium
3 % QOO0

Hypanthodium
4 v STDOHROHO

Question Number : 7 Question Id : 3838232407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify incorrect match

Q5% 2265 HOO0THH

A. Asparagus — Cladode — Balancing roots
ST — TEE - oD S

B. Bougainvillea — Thorn — Runner
SHESDOD — SN0 — 8516

C. Dioscoria — Bulbil — Vegetative reproduction
CHOSTF), B0 — ©RANOD0 — TDAH (Dedged )&

D. Casurina — Phylloclade — Xerophyte
ST N — &S00 — DT ORNE)

Options :

1.4



A and B
A 6aw B

Aand C
2. % A8 C

B and C
3 % B 0B C

Band D
4 % BB D

Question Number : 8 Question Id : 3838232408 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct
80O T30S’ DO B

Options :

Cleistogamous flowers are always autogamous

1 v N0SYS HOTIFH YT YN AV D SADODOTI TS

Xenogamy occur by wind pollination only

5 % BISHD TONDT DODBO T JT° ST 23S0

Chasmogamous flowers do not open at all
3 % D3YEd HOTTTM SYarIEN eI DEVOTH)

Zostera exhibits epihydrophily
4 % SR &35 BODT SODG LN (EB0THD



Question Number : 9 Question Id : 3838232409 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Floral formula of mustard plant of Brassicaceae family
(2708 Z9EN000 €830 RNEY IR DB (HOBS0)

Options :

.« Br Bil % § Ks Ci A2 G
- Br Brl % § K2 Ci Axs G
,  Ebr Ebrl S, § Ks Cs4 As2 G

, ,Ebr Ebil @ % Ko Ci Az GO

Question Number : 10 Question Id : 3838232410 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Characters of sunflower ovule
QPG 5050 @905 © 8 €77

I Micropyle lie close to funicle

OIS0 90563 0530EY SIS G0oLnod
[1. Inverted ovule

0800 ede(Socen
I11. Ovule curvature is 180°

€900 (5ed 180°
[V.  Curved embryo sac
S50)e3BAS DosSHOo

Options :

I IT and IV
1 % 1, 11083 1V

I, 111 and TV
5w 11, 1T 0805 IV

I, 1T and III
3 v LI 0805w 111

I, IIT and IV
4 % 1, 111 08050 IV

Question Number : 11 Question Id : 3838232411 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a function of cytoskeleton
A% e3S’ E0eo0D02350 (80D 5

Options :

1. %



Helps in intracellular transport

Eer0e50ed HeTS) DarEBotHEd

Mechanical support
, % O3r0(e38 580

Intercellular transport
3 ¢ BEFONES OI°ET

Cell shape maintenance

4 % SEAEFTR) QOO

Question Number : 12 Question Id : 3838232412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘A’ diploid chromosome number is 4. ‘B’ haploid chromosome number is twice to that
of A. ‘C’ diploid chromosome number is thrice to that of A. A, B and C respectively are

‘A’ B 0H0SE SITF D03 4. ‘B’ N8V (FIrFa doDs A ) BE0s)
(Bodossen). ‘C’ (3500 (EIrED oS ‘A’ §Tv) e BE. A, B HO0N
C 0 T

Options:

A = Maize B = House fly C = Onion
1 % SVEFE VY Sa(s &N

A = Housefly B = Potato C = Onion
5 x & reres’ &K

A= Haplopappus B =House fly C = Tomato

3 % O VDR &t S



A= Haplopappus B = Onion C = House fly

Question Number : 13 Question Id : 3838232413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify wrong statement of the following

1B0& 57¢36S° YA T 55 HBo50bk

Options :

Peroxysomes participate in photorespiration

| % VO8I 0BT BN’ P DD

Lysosomes perform glycolate cycle

, v BFF) FFBE 505 DB D08

Endomembrane system include endoplasmic reticulum, golgi, vacuoles, and lysosomes

3 % @005 (OSgErom, mQ), 88800 HBAN BIFD) ©0S8S 513 HSHS T6 DAY

Aleuroplasts store proteins

4 % OOITTPEN (¢3S B A FTAND

Question Number : 14 Question Id : 3838232414 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1808 E3Q 2508t D
Table -1 Table — I
DEE 1 DEE 11
I Lenticels A | Phellogen
FONE0ITEN (BoSD)) 293
II | Cork cambium B | Suberised cells
L0 22res§8eaere0 O™ oJ°Oed SeTren
III | Secondary cortex C | Exchange of gases
B 3B09 SO0 TONHE DRSO
IV | Cork D | Phelloderm
Zocd 25%6;
The correct answer 1s
QT VIO
Options:

1« I-C, 1I-A, 111-D, IV-B

, % 1-C, II-A, 11I-B, IV-D

3. % 1-D, 1I-C, I1I-B, IV-A

4. % 1-A, 11-D, 11I-B, IV-C

Question Number : 15 Question Id : 3838232415 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Primary endosperm nucleus is formed by the fusion of

& E00E &°S0° (PGS @0508)E BO(EE30 B I

Options:



2 polar nuclei and 1 synergid cell nucleus

1 % BOC® (G0 TO(&57en B 2.8 d3Fa¥es So(¢d¥o

| polar nuclei, | antipodal cell nucleus and 1 synergid cell nucleus

5 % 28 ((05B0(¢580, 2.8 Dedcssed S0(¢3%0 BN 2.8 daFaHeaso|dEo

2 polar nucleil and 1 male gamete nucleus

3 v DO (C0 Bo(E5ren SHBAKM 2.8 HBD HoddrKde Sodgo

2 antipodal cell nuclei and 1 male gamete nucleus

4 % DO (HBISEeTe To(ddseen SHOAW 2.8 YA Hodx e Dz Zo|¢sgo

Question Number : 16 Question Id : 3838232416 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct matching

0 25 HBodod
[ Nerium = Verticillaster = Sunken stomata

NB0%H0 OIS Bhads SdolEren
[l Vallisnaria = Free floating hydrophyte = Epihydrophily

FORVTON VI 8D BOAT 0%, &5 BONTE 080

Il Tribulus = Ephemeral = Xerophyte
AT ®0) 5050 0 J08)
[V Rhizophora = Halophyte = Vivipary
E>S TS 2 (G008 3ng)) 3050 200 (Da)al0)
Options :
I and III

1. % 1 08050 111



Il and IV
2. % [ a08a% IV

Tand II
3. % [ 080 II

III and IV
4. v 111 D83 IV

Question Number : 17 Question Id : 3838232417 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Based on the figure given below which of the following statements are not correct

&6 BN D50 SO 800 aPe3eS NBTR) F DD

Chamber
(6
A B
Solute molecule s o« *
(TN &£ S T
Water = ¢ o
Es\.) m e 0 ® g e ¢ L ]
Pl
Semi permeable
membrane
or ol NI TCANW
Options:

Movement of solvent molecules occur from chamber A to B

1 % 87963 @E0YHeN A 5O O B 5E8 SOT 0w

Movement of solute molecules occur from chamber A to B

5 v TS0 )N A (& HO0& B O SOJom



Semipermeable membrane 1s prerequisite for the process

5 % DBOHB ©F JBHSS & 5250 @S5HB0

Rate of osmosis depends on pressure gradient and concentration gradient of solutes

4 % (BFDNGE Bew (@0 e (566 HBO o6 (N8 D PG G0

Question Number : 18 Question Id : 3838232418 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 °¢3Q) BB
List—1 List—11
e -1 AL ||
A | Glut-4 | Hormone
¢S — 4 58S
B | Antibody I | Enzyme
D338 50 OB
C | Trypsin [II | Fights infectious agents
€320 DOIEE SETOK AT, e
D | Insulin IV | Enables glucose transport into cells
30O oS S S St
The correct answer is
Q0N QoGO0
Options :

1« A-1V, B-II1, C-II, D-I

> % A-III, B-1V, C-II, D-I

3 = A-1V, B-III, C-I, D-1I




4 % A-IIL, B-1V, C-I, D-II

Question Number : 19 Question Id : 3838232419 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct combination

QDO 2B D) T
Substrate/s End products Enzyme class
&Y Q0 @0ehs &reh ))& 2OZ Sifed
[. | Argenosuccinic acid Arginine + Fumaric acid
v . 3
@355‘&@3&5 00 0N + 53008 800
[I. | Fructose 1,6 bisphosphate Fructose 6 phosphate + iP
D8R 1,6 DS D8R 6038 +iP 3
1. | Glutamic acid + NH3 + ATP | Glutamine + ADP +iP 6
({Per08 a0 + NHs + ATP | (DEFR0Q + ADP +iP
[V. | Malate + NAD' Oxaloacetate + NADH + H'
HBE + NAD' &5 )0 N®E + NADH + H |
Options:
IT and III

1. % 11 083w 11

1T and IV
2.« I DA IV

[ and IV
3. % | c8A IV

IT and IV
4. % 11 DO IV




Question Number : 20 Question Id : 3838232420 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following
1B0& 3R 236581000

List — I (Element) List — II (Significance)
27 — 1 (30 ) 2@ — 1 (|0 5eh)
A | Copper I Activator of carboxylase
500 50°)8 )8R0 &850
B | Zinc IT | Component of nitrogenase
205 SEBTR €900
C | Molybdenum III | Chlorophyll structure
NVEILARY ST 0760
D | Magnesium IV | Component of cytochrome C
DAYNGHO VEED C 00506850
The correct answer is
QB QG0
Options:

1. = A-1, B-1II, C-11, D-1V

2« A-1V, B-1, C-II, D-III

3 % A-1, B-IV, C-I1, D-1II

4. % A-III, B-1V, C-1, D-11

Question Number : 21 Question Id : 3838232421 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Assertion (A): In Arachis fruits are geocarpic
Reason (R):  Seeds are non-endospermic in Arachis

D250 (A): TP SO deren 35°18)eb0
5880 (R)  @UTDR SO dren @0 Sareso
The correct answer 1s

PSTO PN IN N To)

Options :

(A) and (R) are correct. (R) 1s the correct explanation of (A)
% (A) B (R) 0 HBTDID. (A) &0 (R) HOTS IS

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5« (A) B (R) &0 HOTDAD, SR (A) 80 (R) HOTS DB ¢

(A) 1s correct but (R) 1s not correct
3 % (A) DOBDIB R (R) OIS 5°¢»

(A) 1s not correct but (R) is correct

4 % (A) SOTDIA 570 5% (R) HEDAE

Question Number : 22 Question Id : 3838232422 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify wrong match
€52 L300 23¢5aD HO0NOEA.

L Acidic amino acid = Valine
230D INSBN0 = FOS

I1. Neutral amino acid = Tryptophan
SR SN0 = (3PS

I[II.  Aromatic amino acid = Tyrosine
537¢38 DS BWV0= BTIQ

IV. Basic amino acid = Lysine
56 9SBWNO0 = BA®

Options :

I and III
1. % 10005 III

[ and 11
2« 1 00a 11

[and IV
3. # [ 08 IV

IT and IV
4 % 11 DO IV

Question Number : 23 Question Id : 3838232423 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify correct statements
1808 3¢’ DB a0 K008
L. In C4 plants PEP carboxylase is present in mesophyll cells
C4 308,06 PEP 507)8)80 H@rosd oS Gotnod
II.  InCqplants mesophyll cells lack RuBisCO enzyme
C4 208 HEoss §rod RuBisCO 0B S'00d &0en0d
[lI.  InCyPlants bundle sheath cells are rich in RuBisCO enzyme

Cs 3080 TP 90285 870 RuBisCO QOB ©9O%0
[V.  InC4 Plants bundle sheath cells lack PEP carboxylase
Ca &0 TP 08 o PEP 5078180 200 &0tnod

Options:

I, I1, 11T and IV
1« LIL T 08asw IV

I, Il and IV
5> % 1, 11 083 IV

I1, 111 and IV
5 % 11, 11T 08050 IV

I, 111 and IV
4 % 1 1T 835w IV

Question Number : 24 Question Id : 3838232424 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

808 73R 235D BDTIAW
List — I List —1II
2r)es — 1 e —11
A | Toxin | Cellulose
er8)& 0e05S5 "0
B | Drug I Concanavalin A
L0 E05TarOm A
C | Lectin [I1 | Curcumerin
SESQ 807, DO
D | Polymer substance [V | Ricin
PO DTN or ]
The correct answer 1s
QAT QAP0
Options :

1 % A-IL, B-III, C-1V, D-1
5 % A-IIL, B-1V, C-II, D-I
3 v A-1V, B-111, C-II, D-I

4. % A-IV, B-III, C-I, D-II

Question Number : 25 Question Id : 3838232425 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the enzyme of the following reaction
Phosphoglyceric acid + ATP—=2"_ Bisphosphoglyceric acid + ADP
1808 B855°Q D0BD & Hdohod
P 02308 @ad0 + ATP Q0B  DVare?)feos eedo+ ADP
I

Options :



Phosphoglycero carboxylase

1 % TFHAIT 5°0°)8 )8R

Phosphoglycero mutase

5 % RFIBIT SwgBR

Phosphoglycero oxidase
3 % TFYAIT 88 )BT

Phosphoglycerokinase
4 R AOTIID

Question Number : 26 Question Id : 3838232426 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Observe the diagrammatic representation of ATP synthesis in oxysome of
mitochondria. Identify A, B and C respectively.

20| ADH €38 )FD S0 ATP HD03NE B S0 (FPBAB0
ANV [OTRVNW

A, B 08050 C ©ed SST K00then

Matrix
NI

Options :

L W3HE F



4.%1HI*F[]? FI

Question Number : 27 Question Id : 3838232427 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find out A, B, C and D products of anaerobic respiration pathway cited below

BH5 SFD0IRAS A 805 HB0S A, B, C 8050 D
G )OO SN,

®
/

Glyceraldehyde -3 - P
Ao D3r& -3 -P

v

3 Phosphoglyceric Acid
3 ¥ RNBE b0

v

-

Phosphoenol Pyruvic Acid :

T )aTO S @0
Acetaldehyde
eerdrd

'
©

Options:



A- Glucose, B-Pyruvic acid, C-Ethanol, D-Sucrose
| % A- PSR, B- ErAS e300, C- ABSS, D- D82S

A- Glucose, B-Pyruvic acid, C- Ethanol, D- Lactic acid
5 ¢ A- ISR, B- 2ETIS 80, C- aBS'S, D- er§§ eado

A-Glucose, B-Pyruvic acid, C- Lactic acid, D- Ethanol
5 % A- ISR, B- RETDE e300, C- e85 @20, D- IPS'S

A- Glucose, B- Lactose, C- Ethanol, D- Pyruvic acid
4 % A- PR, B- er§R, C- 2dS'S, D- HIS e300

Question Number : 28 Question Id : 3838232428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Abscisic acid 1s called stress hormone
RS0 (A): &D)INE B0 & 2,88 oT0N @0Erd
Reason (R): Abscisic acid increases the tolerance of plants to various kinds of
stresses
58620 (R) 98105 890 08,08 ©TEGse (HSverof
NeFS3088) DO
The correct answer 1§
NOINENNWARNTG
Options:

(A) and (R) are correct. (R) is the correct explanation of (A)

1 v (A) OO (R) €0 SOQDDD. (A) 30 (R) SO D5GED



(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) DHBAW (R) &0 DB, 5 (A) 30 (R) SBTS H5GeD ¢

(A) is correct but (R) is not correct
3 % (A) SOOI R (R) DOTSE 5°¢»

(A) 1s not correct but (R) is correct

4 % (A) SOTIA 5% 5% (R) DOBIE

Question Number : 29 Question Id : 3838232429 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Mad Cow disease causing prion, may reach man through beef and cause
Srs8 T arsBR ENNTON (DTS, ) Sr000 &7 58 SrdHAS” T
SOV IRV WA

Options :

Hepatitis B disease
| % rOTER B asd

Chicken Pox disease
5, % WBRIEY 75O

Influenza disease

3 % VYOS 5O

Creutzfeldt — Jacob disease

4 v BODO - 2r8S 50



Question Number : 30 Question Id : 3838232430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Match the following

808 e 23¢8 HSTHAW
List -1 List—1I
A | e -l
A | Operator site I | Binding site for RNA polymerase
30080 (B0 RNA a8 2080 (HBF0
B | Promotor site [l | Binding site for repressor
1030 |DTF0 BP0 20NN (DBF0
C | Regulator gene [IT | Codes for Enzyme
QONO(HE 230509 D0z SROR
D | Structural gene IV | Codes for repressor
Qoe758 208 8l ard §&oh
The correct answer is
PISINESINVEALNTG)
Options:

1. % A-L, B-IV, C-II, D-1II

5 % A-l, B-II, C-IV, D-III

3 % A-II, B-1, C-1II, D-IV

4. v A-1l, B-1, C-1V, D-III

Question Number : 31 Question Id : 3838232431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The separated DNA fragments can be visualised after staining with ‘X" and exposure
to ‘Y. The ‘X’ and ‘Y’ are

ST 22 DNA 200 X & 098023850 262 S80I Y 0% HET
LG HEDEEA0. X DO Y @)

Options:
X Ethidium iodide, Y  X-Rays

L x BOR0DN0 ©TBEE, X- 88ezren
X Ethidium bromide, Y UV-Rays

s ABADO [ TDE UV- 8&e7ven
X Ethidium chloride Y  y-Rays

I lnleTe el Yol v- 88eTen
X Ethidium fluoride Y pB-Rays

L« BOGA0 IBE B-8&eamen)

Question Number : 32 Question Id : 3838232432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A): o (Sigma) and p(Rho) factors are essential for transcription in bacteria

Reason (R): o (sigma) factor helps in initiation and p (Rho) factor helps in
termination of transcription,

280 (A): 2800 & () O p (&) SEESHEN ©HBDS0K ©S5M80
5060 (R): ©BPS0S 7 () 650 3802505 HOAW p (F)
5550 ANA0YNE) NaTEBOTHAD

The correct answer 1s

SINRAN AR No)

Options:



(A) and (R) are correct. (R) is the correct explanation of (A)

1. (A) OBAW (R) €0 SB8DIR. (A) 50 (R) DOQDS DG

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) DOAW (R) &0 O, 50 (A) 50 (R) DB DI 5°¢

(A) 1s correct but (R) is not correct
3 % (A) SOOI SR (R) OIS 5°¢»

(A) 1s not correct but (R) is correct

4 % (A) QOIS 570 5% (R) HOBDIE

Question Number : 33 Question Id : 3838232433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Dual functions of codon AUG
AUG §a@s 25508 8 1H8a%en

Options :

Initiator codon and code for phenylalanine

| % (6025 | B350 BN DTS OIS DOTeHW

Universal codon and code for phenylalanine
5w OSBERN (350 NOAN PTO OIS DOTeSsdN

End codon and code for methionine

3 % @065 B0 HOGM DATIS B HoTedIn

4.+



Imitiator codon and code for methionine

(BrS023 1350 DO DATBTTS 0 HOBehadn

Question Number : 34 Question Id : 3838232434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify wrong matching

0N 235D 000G
I. Roundup ready = Soyabean = Herbicide tolerant

80 B = FASrRBN= Heard8e5e0 ST
I1. Transgenic Plant = Papaya = Pseudomonas resistant

DOIBSINE) = FYoN = ArE R TS
I[II.  Taipei variety = Rice = rich in Vitamin B
B BE0 = 50 = D™ B e9HEX0

IV. Flavr savr = Tomato = Bruise resistant
a0 VD = LI = AT SEPT
Options:
[ and IV
1. % [ 00 IV
Il and IV

2. % III 08 IV

II and 111
3.« 11 0835 11

I and 11
4. % 1080 11



Question Number : 35 Question Id : 3838232435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Protoxin of Bacillus thuringensis become active in gut of insects

Reason ( R): Alkaline pH of intestine gut solubilizes the crystals of toxin to
make it active

DR)B0 (A): 2rPAVR GB0BTAYD [r8)S §hse ed) T (DE(E)
S 180500 GOEN0S.

5800 R):  @8)Ferd (WEHS) SR 56 pH er8)1S D850
8R0S0 & 56 (8ASrReS s H0S 00006

The correct answer 18
Q0N N0
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1 v (A) DOAW (R) &0 SOTDAD. (A) 80 (R) SO D56€

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) HBAW (R) €0 SO, SR (A) 0 (R) SO DSGed ¢

(A) 1s correct but (R) 1s not correct

3 % (A) DSOS R (R) OIS 5°¢»

(A) 1s not correct but (R) 1s correct
4 % (A) SODDIA 57 R (R) SODRIE

Question Number : 36 Question Id : 3838232436 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In Morgan’s experiments on Drosophila linkage, the percentage of white eyed, yellow
body recombinants and percentage of white eyed, miniature winged recombinants in
F, generation respectively

TS | BT diFor) s (HDBErosS K S80S, Bens) Eedn)en, D0
Ber0 320TrEse (8570906 )) T SHO0 By Edyen, D)
84,0 JR0drEse (8570DT08 ) Tehain) ST

Options :

37.2% and 1.3%
1. % 37.2% 0605 1.3%

1.3% and 37.2%
5 « 1.3% 0835 37.2%

62.8% and 37.2%
3. 62.8% :l)@dil) 37.2%

98.7% and 1.3%
4. % 98.7% o803 1.3%

Question Number : 37 Question Id : 3838232437 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Observe the phenotypic ratios given below
A 9331  B.1ad 141
Arrange the ratios in the order of monohybrid test cross: incomplete dominance; and
dihybrid cross
B9S2 AN B9¥3587 Ao H8300B0d
A 9331 B L2l B o)
2800808 HOT088£0, N0FE 2arYeded 10 BN B 5088 NosBE0
Q)BOB 583 (50065 €955 )05

Options :



1. = B-C-A

2.« C-B-A

3. # B-A-C

4. % A-B-C

Question Number : 38 Question Id : 3838232438 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

808 ¢3Q) 235a30chen
List—1 List—1I
A g -l
A | ABO blood groupings [ | Frame — shift mutations
ABO 38 dednerosren (e - ) €58 )898Sen
B | Starch synthesis in pea seeds II | Sickle cell anemia
2T ASTS 0B N0 88056 BEarased
C | Point mutation I Pleetruphga
Do b 10388 A D (DT Dere)
D | Deletion of DNA base pairs IV | Co-dominance
DNA 526 2¢5e) S0R0s) el 2aresed 0
The correct answer 18
NOINENNV(ARNTS
Options :

1. % A-1V, B-1, C-II, D-III

> # A-1V, B-11, C-1II, D-1



3. % A-IIL, B-1V, C-11, D-I

4. v A-1V, B-1II, C-1I, D-1

Question Number : 39 Question Id : 3838232439 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following
808 are3R 2 HBN
S.No Crop Variety Resistance to disease
3801 Hod %0 TSONSTEES 0 arsIen
(7508 ABA0)
| Wheat A | Pusa sadabahar | W | Leaf and stripe rust
(AN I TR0 (& DO trde Shen
Il Brassica B | Pusa komal X | White rust
278 R §ad SO 5050 BtHen
[ Cow Pea C | Pusaswamnim | Y | Bacterial blight
(F) Ta)d 2T 9§00 2730096 B
A% Chilli D | Himagiri Z | Leaf curl
VO A6 &30 Db
The correct answer is
SO INPANEARNTG
Options:

1« I-D-W | II-C-X, III-B-Y, IV-A-Z

> % 1-D-W | II-C-X, III-A-Y, IV-B-Z

3 % I-C-W |, II-D-X, I1I-B-Z, IV-A-Y



4. % I-A-Y |, 1I-C-X, 1II-D-W, IV-B-Z

Question Number : 40 Question Id : 3838232440 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cyclosporin A is produced by

VEFIBS A & &S TAMSE

Options :

Trichoderma polysporum

| v DTS FOF 5

Monascus purpureus
5 % VLR 080N

Bacillus thuringiensis
3. % 2"V GOB0ZAN YR

Agrobacterium tumifaciens

4 % BF2r§60H0 LFITHADS)

Zoology
Section Id : 38382355
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 40



Number of Questions to be attempted : 40

Section Marks : 40
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 38382355
Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 3838232441 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct statements:

. All the threatened species are listed in red data book

[I.  National parks, Sanctuaries, Biosphere Reserves etc. are some of the methods of
ex - situ conservation

[Il.  Anarea which is set aside, minimally disturbed for conservation of the resources
of an area 1s called Biosphere Reserve

[V. B diversity is measured by counting the number of taxa within a particular area

1808 3R @500 TR, ND @oFe Hdood:

L S0 TEendnd) o) o3 B& Ger HngoS R HEES
D006

L 2P0k D) en, eeosrdesen, 2574 id & Solmren RGBS
E'R), DO 2FaT§ NOYE P DTTRREN

M BS6% 90 08§ eTd0 §a) @z $OR, |HSB5E0m I8 TohAAS
DBTO ZIFE) 8§ & Sorren ©otrd

V. 2802 (3700 SR £ D8rE0 B SaTd8e S0 &) X5
88,0060 & 50° er IR, T

Options :

| ow LI



5w 1L 111

5 o L1

4« LIV

Question Number : 42 Question Id : 3838232442 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study of cell as a structural and functional unit of living organisms is called

$e77Q0) 2B)© 0 e7eh8, (805reh 8 |DITEIOM @9¢I5ANS0 TR B WO
Options:

Anatomy
| % @08 QU F7(QO

Cytology
, x 38 F(Q0

Morphology
3 % QI8 TR0

Cell Biology
4 v 363 BIFQO

Question Number : 43 Question Id : 3838232443 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Pancreas is a merocrine gland

Reason (R)  : The apical parts of the pancreatic cells are pinched off along with the
secretory product

DRISB0(A) : §o00 2.8 DEES (Hod

S8R0 (R) 5o 108 SeTer e\ 2rmren (18 Hrrgod NaF Sere) ol Sh
QGO

The correct answer 1s
Q0N QaFTN0
Options:

(A) and (R) are correct. (R) is the correct explanation of (A)
1 % (A) OO (R) &0 HODDD. (A) 30 (R) QB DdGED

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) DB (R) €0 HBTI, SR (A) 0 (R) ST SGeD 5°¢0

(A) is correct but (R) is not correct
3 v (A) SBBIE SR (R) DOTDSE 570

(A) is not correct but (R) is correct
4 % (A) QOIS 570 5% (R) DEBIE

Question Number : 44 Question Id : 3838232444 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1808 °¢3Q) 830G
List—1 List—1I
e — | e — Il
A | Oligodendrocytes [ | Blood brain barrier
sOFBoEE en 350 - B 380
B | Astrocytes II | Neurilemma
& &N USSRV
C | Microglial cells [IT | Myelin sheath
DIEBADHS Seren ANOS &3 )0
D | Schwann cells IV | Cerebro spinal fluid
oL 5 SETeN 0NN, NA(I50
V | Phagocytic cells
The correct answer 1s
IO INESIN AR Ne)
Options:

1. = A-IIl, B-I, C-IV, D-II

, v AL, B-l, C-V, D-II

s n &IV, Bd, CH, DI

4 % A-Il, B-V, C-I, D-III

Question Number : 45 Question Id : 3838232445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Parazoans exhibit
TS D AAA 580 Tarow

Options :

1.



Tissue level Drg:,anlzatmn

« E6925°0 AW S5IVEBED

Organ level Urgamzatmn

5 % ©eI0% PO 55580858

Cellular level orgdmzatmn

3. v 58 oA S850EBE

Organ system level {}rg,amzdtmn

4 % ©DODND - D§IY POV 55508580

Question Number : 46 Question Id : 3838232446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct combinations:

180& a¢3Q) 965090 TR B DFN0)OD HO0H0R:

S.No | Phylum Characteristic feature Example
2. 00 | %o S0V 0 G 8
I Porifera Choanocytes Physalia
FODO° TODS ED rdalr
II Cnidaria Stinging cells Euspongia
NBOAF 508 SeTren o) ozalr
Il Ctenophora Lasso cells Pleurobrachia
SS'Por ey Seren o 5ersalr
IV | Platyhelminthes | Flame cells Fasciola
d% 00 | & ter Sgren TRoarer
Options:

1.% L 11

5« IL 1



5 1L IV

4w LI

Question Number : 47 Question Id : 3838232447 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Botryoidal tissue in body cavity is characteristic of

388 50550 S EronGS $822320 A S ©F 00

Options :

Cockroach

1 % Q0¥

Earthworm

2. % 63°a) o0

Liver fluke
s« OS6 'S

Leech
4.« 30

Question Number : 48 Question Id : 3838232448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1808 ¢3Q 838080
Scientific Name Common Name
ﬂ?goij D00 AN ENVENVe)
Hemidactylus I | Kangaroo
TRVETEOR Sorrdor
Ptyas 1 | Wall lizard
ErF fics 229
Columba [T | Flying fox
Seoar A0 ),
Macropus [V | Pigeon
IEDR Y30
V | Rat snake
20 e
The correct answer 1s
Q0 QedIPEI0
Options :
1.« A-Il, B-V, C-IV, Dl
> = A-ll, B-V, C-lII, D-I
3 % A-l, B-V, C-IV, D-II

4 % A-III, B-II, C-I,

Question Number : 49 Question Id : 3838232449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Vertebrae of birds are

HHOS'Q EF3K5e & 558 TotHsow

Options:



Procoelous

1. % 0

Opisthocoelous

L % DS KB

Amphicoelous

3 % G200 (18

Heterocoelous

4 v DA 58

Question Number : 50 Question Id : 3838232450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pseudopodia in Euglypha are
TS’ DETsraren & 880

Options :

Lobopodia
1. % S FE0ST

Filopodia

Reticulopodia

3. ® aﬁéJgéﬁﬁséCﬁ?

Axopodia



Question Number : 51 Question Id : 3838232451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct statements

. Due to Sacculina, its host becomes sterile

1. Plasmodium frequently changes its surface antigens

[1I. Fasciola causes hypertrophy of RBC in sheep

[V. Malaria is spread by female Culex

1808 €30 9550050 TR, BN @oTON HB0o0s

L 7807 SO T BTN HOLE B T S0

I 9BAD0 e Tor G0SO) (03 BTN SHIF SFEA® &0EN0H
1L PDATE” 506 B | 88 SeTed 2700|6559 Senheood

IV. @8¢5 $DE8) HBOATD a5 DO

Options :

Lo LI

5 % 11111
5 % T IV

4% LIV

Question Number : 52 Question Id : 3838232452 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Eggs of Ascaris are described as mamillated eggs

Reason (R)  : Each egg is surrounded by a protein coat with rippled surface
IS0 (A) : S8HERD NS SFBDE DX ©0trdd

SOR0 (R) (8 AT 85000 EVNT A (HFES 6 Goen0d

The correct answer 1s

NJOINESN W ARNTG)
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)
1. v (A) DBAW (R) 20 SBQHAD. (A) 80 (R) QOQD DO

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) OO (R) €0 DB, SR (A) 80 (R) SBTS D5GeD 5%

(A) is correct but (R) is not correct

3 % (A) SBODIA A (R) OIS 5°¢»

(A) is not correct but (R) is correct
4 % (A) DBBDIE 57 5N (R) OIS

Question Number : 53 Question Id : 3838232453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Marijuana, hashish, charas and ganja are described as

DBPTD®, AR, IER, H02T BB

Options :

Opioids
1. % 202003°&eD

Cannabinoids
7> ¢ ETradTron&en



Barbiturates
3 % 35“‘5;1&}356@

Amphitamines
4 % BOJLIRDSEN

Question Number : 54 Question Id : 3838232454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[dentify the hyperparasite
OANT) 2 HBotod

Options :

.%:!Jf*.'uem.wm”u

| % V)5 o"

Ascaris

5>« SP0D

Entamoeba
3 % DOAET

Nosema

4_«5?)&7"

Question Number : 55 Question Id : 3838232455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
In cockroach, depression of wings is due to contraction of

5008 &S BE)en 8008 TGI8 57860 & $08%07e) HOSITH

Options :

Dorso — ventral muscles

1 % DYELAY ockoren

Alary muscles
5 % 08T $0LTeD

Dorso — longitudinal muscles

3. v D% e300 FOcdTrew

Adductor muscle
4. % OIS ocsoren

Question Number : 56 Question Id : 3838232456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In cockroach expiration takes place through

500 S T30 D T 50° 2HHSH0E

Options :

Prothoracic spiracles

1 = PO SE Fs080(5ren

Thoracic spiracles
5 % 08 FTI000("eD

All spiracles
3 % B OO0



Abdominal spiracles
4 v BBB0 S F3I80|GTen

Question Number : 57 Question Id : 3838232457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Statement I :  Spiral cuticular thickenings of trachea in cockroach are called taenidia

Statement [I: In cockroach, inspiration is a passive process

0030 1: Q0% & o) TOR GOT @SrR JOArO SAANT @otrd
@030 I TO0E S &) 190 Do A 8§

The correct answer 18

0N VTG0

Options :

Both statements [ and Il are correct

1 v ©®OFEN 1080w I O3S

Both statements [ and II are false

5> % @03 [ DO I DT da) $°CN

Statement I 1s correct. But 11 1s false

3 & @030 [ ABAA. 5% 11 OB 5D

Statement I 1s false. But Il 1s correct

4 % @030 I AV 5°C0. 5°R 11 AT I

Question Number : 58 Question Id : 3838232458 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The oriented locomotor movements of an organism towards or away from light is known as

508 SIS DO S S5ATE BIS Bye AR R & A0 DF,0erEd

Options :

Phototaxis

1. ¢ 5708 @S0

Photokinesis
2. ® S"O@ @&’Dﬁh}:‘é@

Phototropism

3 % 57083 @IS0

Photoperiodism
4 % S5°0€ PO

Question Number : 59 Question Id : 3838232459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Statement I :  Natural aging of a lake by enrichment of nutrients is known as
eutrophication
Statement II: Increase of concentration of pollutant at successive trophic levels in
aquatic food chain is known as biomagnification
©030 I: faeScScL N STTEN OO FH0 SO HEIS AT deFes
P57, OO DTN SOEFS)
@030 II: D3 &:385) FenS e o meed 2.8 0% Frow o I6%
N8 DADSF B AR £ B8IPS0 ©0oErSd

The correct answer 1s

NJSINEAN ARG

Options :



Both statements I and Il are true

1 v ©0F°eN [ HOAW I AT

Both statements [ and II are false

5 % @03 [ DOAW I ST da) 5°CN

Statement I i1s true. But 11 is false

3 & @030 [ ABAA. 5°Q I AT 5°CR

Statement [ 1s false. But Il 1s true

4 % @030 1 OB 5°C0. 5% Il OB E

Question Number : 60 Question Id : 3838232460 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 3R B38BTS0
List -1 List—2
A ® -2
A | UV- B rays [ | Electrostatic precipitator
UV- B 88een DO SPESS (DT
B | Greenhouse gases II | Snow blindness
38 ol OYEN &) o0&
C | Particulates [II | Eutrophication
OE08I% TN OO 030D
D | Automobile emissions [V | Global warming
PEP) Tl €5G°0°EN) AVES]0)
V | Catalytic converters
SLSEE §J 50D

The correct answer 18
0B DSPETS0

Options :



. % A-Il, B-IV, C-lll, D-V
, x AV, B-l, C-1V, D-II
3 Al B-IV, CI, D-V

4 % A-IIL, B-IV, C-I, D-II

Question Number : 61 Question Id : 3838232461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
These enzymes function actively in acidic medium

B3 DOBSNEN €3N 379500 GBREBOTT HQ TRON

Options :

Trypsin and chymotrypsin
| 1398 $6050 SREEDIS

Trnipeptidase and steapsin

5 % VR NOAN PATTFII®

Rennin and pepsin

3 v 02 DOAD VYN

Dipeptidase and enterokinase

4 x BB SO0 OBETEFE

Question Number : 62 Question Id : 3838232462 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : The reaction between CO2 and H:0 in the RBC 1s much faster than in
blood plasma.

Reason (R)  : Red blood cells contain a very high concentration of carbonic anhydrase

A)S0 (A) : 850 SA TS §7) RBC S €O, OO H0 D355 585 Trer
Jtiore 2hiHe0d

SO0 R) 8 88 8o $FINE SRS wrer ©dI0T Goenod

The correct answer 18
NS INENNARNTG)
Options:

(A) and (R) are correct. (R) is the correct explanation of (A)
. (A) B (R) 0 HBTDSD. (A) &0 (R) HOTS DSIBE

(A) and (R) are correct, but (R) is not the correct explanation of (A)

5 % (A) DB (R) €0 DB, 5 (A) 0 (R) ST DSGe 57¢%

(A) 1s correct but (R) 1s not correct
3 % (A) DOBDIB SR (R) DOTOIE 5°¢»

(A) 1s not correct but (R) is correct

4 % (A) QOIS 57 R (R) SODIE
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Statement .~ Angina pectoris 1s a warning signal of depreviation of blood supply to
the heart muscles
Statement [I: Coronary artery disease is also called atherosclerotic heart disease
©030 1: 8o S0P 93O HOT §0tTrerdd 880 NEHT S0
BONZ W (DT AP
@030 I1; §898 B90R 3B QBT T35 HoB 5 eEre ©otrd

The correct answer 1s

NTOINESNVARNT6)

Options :

Both statements [ and Il are true

1 v ©0B°eN 1 DO I OB da)

Both statements I and II are false

5 @07 [ DO 1T DD da) 5N

Statement [ is true. But II is false

3 % @030 1 OBIQ. 52 11 TSI 5°C0

Statement I is false. But Il is true
4 % @030 I QDO 5°CN. 5 1T SBIL
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During glomerular filtration, net filtration pressure that cause filtration of blood in
glomerular capillaries of Bowman’s capsule is
BTN S 570S) HPESR &8 TITds 191085 Iodied 880

SCFS8) SBEISIOND AEE S 530

Options:

1 = 60 mm Hg



> % 18 mm Hg

3 % 32 mm Hg

4. v 10 mm Hg
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The thick filaments in a sarcomere of a myofibril are held together by a thin fibrous
membrane called

50658 %) S0SHSR $058 DOBSOS BN S08YOD ¥
DN H0AOLNE & 5130

Options :

Dobie’s line

1. % &2 Qs

Krause’s membrane

, % 157 & 5250

Z—Line
3 % Z Aeb

M — Line
4 v M - b

Question Number : 66 Question Id : 3838232466 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the incorrect statements:

1808 ¢3R @500 TR, NOSR 0T HB0otiod

L.

IL.

I

IV.

The axolemma has more K leakage channels than Na™ leakage channels

G 0 ¢330 (88)8:0)) S Na' 32 ¢ $0B K 2 Tredsd

QS0 GOLFoN

Ligand gated channels open or close in response to electrical stimuli
Brod TG TR A0S |REOF @B B §5d0,
S0r08 e3¢0 2800

Voltage gated channels open in response to a change in membrane potential
SB TG TS ¢ 525 3520 'R 8% @DEHT B
Soéron

Speed of conduction of nerve impulse 1s more in non myelinated nerve fibre
than the myelinated nerve fibre

DANOS BB TG $0hY E7) HANOR Fored @ S0HH®
507 G (SEN S50 88 o 2508

Options :

L% LI

, o IL IV

3 % LIV

4« 1L I
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Study the following and pick up the correct combinations:

1808 3R 9350030 TR AT DEJ0OND HBodod:

50 SN

S.No Gland Location Hormone
L 506 &OG orfio F02
[ | Adrenal glands Anteiror parts of kidneys Epinephrine

O8] (10D | SDFS0TE 'S¢ PPN | @R
I | Thyroid gland Junction of larynx and trachea | Calcitonin
Boron® 0 |8 0SS, w0 | TOIT AN

[l | Hypothalamus

Sella tursica

Luteinizing hormone

TFErDR AT 1) STR0N F0D
[V | Pituitary gland On the diencephalon Somatocrinin
2057 (108 & 60 FREZAS
Options:
L oL
o> % 11, 111
LY
4 % LI
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The secretions of this gland play major role in differentiation of T- lymphocytes
& 10D [raren T- Q0L AZBBS0S SnPSF|eh SaFaron

Options:

Pineal gland
|« HAIHS (o



Thymus gland
5. v B Bod

Thyroid gland
3 % BOOV& (O

Adrenal gland
4. % @BYSY ((10H
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Match the following

1808 3R 2badTd0c
List—1 List—2
e - | e -2
A | Interferons [ | Leucocytes
2080 DT e SO 8% Seren
B | Immunoglobulin I | Perforins
RS TS e 20FOS e
C | Interleukins [Il | Antiviral proteins
R0EBOTrES e HAIES (3
D | Tc - lymphocytes IV | Paratope
Tc - DoFEN TR
V | Lysozyme
SFBN
The correct answer is
DO INPAN VAN o)
Options:

1. = A-IIl, B-1V, C-V, D-II

, % A-Il, B-I, C-IV, D-lI



3 » A-Ill, B-IV, C-1,  D-II

4 x A-IV, BII, C-I, D-l
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These glands of female reproductive system of human beings 1s homologous to
prostate §Iand of male

S0 [N BOTOBO 953% 'R &4 (Hoen HBENOS R D (H0HS
QoS0

Options :

Skene’s glands
| v S Hodoen

Bartholin’s glands
, = 20OS |Hogven

Mammary glands
5 x S8 [Hoghen

Bulbo urethral glands
4 % DS HODTBSS (Fodven
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Pick up the incorrect pair:

S I C5d) 23¢5aD HOodod
Options :
Natural method - Lactational amenorrhea
|k OB DO 8 8& )98 5O Boehd 80 ehSE0
Barrier - Vault
5 % @3TE HPe 9]
Contraceptive pill - Saheli
2w (8) DBSE Sred )
Intra uterine device - Cervical cap

4 v N0°)3AT0AE QOO (T°)EAD NPT G 20T°eh
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If karyotype of a Drosophila is AA-XXXY, its sexual phenotype is
2.8 (B%Der SO D) AA-XXXY @©0ans, o dolErHno

Options :

Matafemale

| OO(RED

Metamale

2. % @@a;’g)d.);’l 2

Intersex

3 % DNO0K 22



Female with Y chrosome

4w Y IFrE0 & 50AS (Q 2D
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It is an example for monosomy

20 IPSFN8E G

Options :

Klinefelter syndrome

, % SO DR VOB

Turner syndrome

5 o 838 VOIED

Down syndrome

s« TS DOIES

Edward syndrome

4 % DGB5Q VOED
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Vision of the children born to a colour blind father and normal homozygous mother is
2.8 38 @00 s $0\B 8 e Goaie daniz $O8 5O Hodo Tl
B



Options :

Normal
1. OO G0VOS

Females colour blind, males normal

5 % (RED ST 50, HBENZO TS SR

Males colour blind, females carriers
3 % o) ENEY ST0EED SO, (EN FTEEN

Colour blind
4 % DTS L0 & GOErSd
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Seymouria is a transitional form between

oA D 0 0SS BrD0o

Options :

Fishes and amphibians
1 % DN OAM &2IAD HoPeN)

Ampbhibians and reptiles
5 C5SORNTTEN DB HODYIeN

Reptiles and birds
3 % QBDYTEN HBAKW HFVEN



Birds and mammals

HFoen B §ETren
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Statement I:  Disruptive selection operates when homogeneous environment changes
into a heterogeneous type

Statement [I: Change in the frequency of a gene that occurs merely by chance and
not by selection in small populations is called directional selection

@030 [: N S0 &S0 (S0 D Ze0h FEdSeom
P60 SO D) 3860 NOBAN0H

@030l O 2ere S880 SO RO AIrBYD SO 2
2redee950 & 26T Sr8d) & BT SG80 @OLFSd

The correct answer 18
Q0N N0
Options :

Both statements I and II are true
1 % @07 [ DB I OB D

Both statements [ and Il are false

5 % @07 en 1 080N I OB 5°¢

Statement I is true. But 11 is false

3 v @030 [ AVIL. 5°Q 11 AT 5°¢H

Statement I i1s false. But II is true

4 x @030 [ATID 5N, 5% I AT
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Existence of deleterious genes in a population is called

2SS SFSERS 20890 GOBEF) &8 DO &), 0EFS)

Options :

Gene flow
1 % BAS (D0

Genetic drift
5 % 230§ YN

Genetic load
3 ¢ 20§ 200

Sewall Wright effect
4 % 0O BE (D50
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Assertion (A) : Influenza vaccine is an inactivated whole agent vaccine

Reason (R) : It contains killed microbes

AFIS0 (A) 1 AR TN FEIR NGO AD0F™R [PBRARS 80

80 (R) @ b Dy &rd e O &otnod

The correct answer 1s

IVJOINPSIN I ARNTO

Options :

1.¢



(A) and (R) are correct. (R) is the correct explanation of (A)

(A) DO (R) 0 A8QDAX. (A) 50 (R) OO DD

(A) and (R) are correct, but (R) is not the correct explanation of (A)
5 % (A) DHBAM (R) €0 DB, 5% (A) 0 (R) BT 5GeD ¢

(A) is correct but (R) is not correct

3 % (A) DB 5°R (R) DOTOSE 5°¢»

(A) 1s not correct but (R) 1s correct

4 % (A) QOIS 570 5 (R) HEBIS
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Tall T- wave in an ECG indicates

ECG & Q8 T- $30650 A SrdNod
Options :

Hypokalemia
| % OO

Hyperkalemia
, v OO

Bradycardia
3 % [2PASQSr



Tachycardia
4 % ¢r85°80%r
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Match the following

1808 °E3Q) 238080
List -1 List -2
A e -2
A | Vitamins A& D [ | Dried skin of sharks
A&D QAN N 6 DA OGS TG0
B | Shagreen Il | Scrap fish
2P [0 D
C | Fish guano [II | Swim bladders of cat fishes
Do LS 2O THe ) Qe
D | Isinglass [V | Fish liver oil
DR D) TOOH ArD
V | Meat of fish
e SO0
The correct answer is
Q0N QPG I0
Options:

1. = A-lll, B-1, C-II, D-IV,

2 ¢ A-1V, B-l, C-II, D-III,

3 % A-I,  B-IV, C-II, D-III,

4 % A-IV, B-I, C-V, D-II,
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The theory currently accepted as proper framework for explaining microscopic

phenomena is

TS5 Ghs0D DSBS DO TAWVEO™ [DNS0 ©0oAEBNN)

00

Options :

classical physics

| % OODTOD 278 T NO



quantum theory
5« 5P 5080 D040

wave theory

3 = 008 VFoSO

electromagnetic theory
4 % @CDFEONRY 0 VGOS0
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The displacement of a particle in wave motion is given by y=0sin (ﬁx + }ft) where ‘X’

and ‘t’ represent displacement and time respectively, Then, the dimensional formula

up

for —1s
Y

$80f YOS5 28 $e0 T, FIL0F0 y=asin(Bx+1t)T 350808,
B8)C8 X’ BN ‘t" AT 23050 DA TO0 ATFLIOTHAD. SONA,

“?B ), NS P8P

Options :

. [MﬂErTl]
- [M{JLlTH]

. [M‘L‘T']



[M|E:T1:|

4, =
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A body thrown vertically upwards with certain velocity from the ground reaches a

maximum height H. The ratio of the times at which the body is at a height of — is

20 08 0 § 82 ©00m 8 §oeh FHoS DBERAS 2.8 S0 H e
D55 Tk, S0 % 28 56 E91538 Fereo DD

Options :

1. % 3:2
2. % \/gﬁ
., » -1

() (241
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The maximum range of a projectile is 80 m. If the projectile is projected with the same

speed at an angle of %wilh the horizontal, then the range of the projectile is

28 (DB N80 TE), (05 °sa) 80 m. § B2 AroSTeR8 % ENWEIRERIE)
o8 JAS (HDER0 T, (HZ.980 Ty arge)

Options :

2%80”1
3.$ 20m

4%60“1
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A force of 20 N acts on a body at rest for a time of 2 s and then a force of 60 N acts for

a time of 1.5 s in the opposite direction. If the final velocity of the body is 10 ms™ in
the direction of 60 N force, then the mass of the body is

DT VAS &S 28 S0 320N 200 2 5 00 DTS, & e 60 N
200 & 50 D SIATE BIS’ 155 F00 DTG, 60 N 200 HIS’ e

O 3150 10 ms™ @00, SN (393073

Options:

. % 10kg

2. % 8kg



3.v kg

4 % 16 kg
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A body of mass 4 kg 1s falling freely from rest from a height of 30 m from the ground.

If the velocity of the body when it is at a height of 10 m from the ground is 10 ms™',

then the loss of energy due to air resistance on the body is

(Acceleration due to gravity = 10 ms™)

A7 oG 30 m B HOA 4 kg 1995073 K 2.8 D) AT Ved HOR
L) DTN B, 870 DOG 10 m ) S8 SNy B0 10ms™, N
) ABE0 SO S 8 S0

(%65 ¢ & ¢85e90 = 10 ms™)

Options :
1. % 400
5 » 6001

5 % 3007

4 % 10017
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A ball of mass 200 g moving with certain velocity collides with another ball of mass
600 g at rest. If the coefficient of restitution is 0.6, the ratio of the velocity of 600 g ball
after collision and the velocity of 200 g ball before collision is

§0& SHOS ¥30entnd) 200 g (35303 e 2.8 208 TS S &) 600
1535073 Ko HTE 208 AFESB. (HE5STS 1880 0.6 @O, @DATS0
Sared 600 g 203 JTRS HOON ODATEVE SN0 200 g 208 IS ey
A8

Options :

1.% ]2

2. % 35

3. F 2:3

4. ¥ 2‘5
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A solid sphere is rolling on a horizontal surface without slipping. The ratio of the

translational and rotational kinetic energies of the sphere is

28 § 82 NSrodd $00 R 2.8 N Ao ardFoa SR . Aigo s
FI0SEE DO (206D Hdes 30e) A

Options:

1. % 32

2. W’ ?2
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Two particles each of mass ‘m’ are separated by a distance ‘d’. If the mass of one of
the particles 1s doubled without changing the distance between the two particles, then
the shift in the position of the center of mass is

282563 ‘m’ (35503 K> Bockh deren ‘A’ Ardosd S8 Tabhaadarow. Bok
$e70) D05 AFTR) SrEIN0E 2.8 860 TE) (OS5T IR B0y TR,
18355073 30|30 FR0SR Srdd)

Options :

d

—

1.4 6

&a SIE-N

Lh | G
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The time period of a simple pendulum on the surface of the earth is “T". The time period

of the same pendulum at a height of 1280 km from the surface of the earth is

(Radius of the earth = 6400 km)

Srs00 2 a8 Odn SO0 B BoTsds 500 ‘T, 8rée0 Hod 1280 kn
) 38 ©F T80 B, BoTids s00

(25PaPsrQ0 = 6400 km)

Options:

% 15T
, o 12T
3.% 2T

4 % 24T
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The escape speed of a body from the surface of the earth is 11.2kms ™. The escape

speed of a body from the surface of planet whose mass is 8 times to that of earth and

mean density same as that of the earth is

Aren0800 DOG 28 S DEroDN G 112 kms™ . 2D (H50728 § BV

183e350°3 oDBO5N 278D T8 APOICISE Nadra) a0(eb 16y 2.8 Har0a30E),

G000 NOG Ve DEFONS &

Options :

;% 5.6 kms™



, x 16.8 kms™

3 x 11.2kms™

4. 22.4 km S_I
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[f the length of a cylinder made with a material of Poisson’s ratio 0.4 is increased by
5%, then the decrease in its diameter is

227 A 0.4 Ho DG S0 TOHAA 2.8 D0 TBE) &)
5% 008, A 5008 Shde

Options :
1. % 0.5%
2.« 2.0%

3. % 1.0%

4. % 1.5%
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A 31.4 kg girl wearing high heel shoes balances on a single heel. The heel is circular
with a diameter of 2 cm. The pressure exerted by the heel on the horizontal floor 1s
(Acceleration due to gravity = l(}ms"z)

DB DADVOT (heels) Dy (0NN 31.4 kg © (3950°3 e 2.8 erd¥

2,063 57 S50 & AOBEY F008. T DA 2 cm TFVOS SYFSEOIT
600, § 82 33r088 I Bay) 0B SORER 20

(KB & s8e0=10ms™)

Options:

1« 10°Pa

5> % 2.5%10°Pa

3, # 1{)5Pﬂ

4 % 2.5%10°Pa
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Two soap bubbles of volumes 27V and 64V coalesce under isothermal conditions,
The volume of the bigger bubble formed is

27V OO 64V a0 Badreasinen (e Boch da) a0ctien N el e
1809 HBSHOS EOVFIOT BB DG 20K 0SB EI0

Options :

1. ® 225V

2. % 91V



3 % 105V

4.+ 125V
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Consider an 1solated system of two concentric spherical black bodies. The inner sphere
of radius R is at temperature T and the outer sphere of radius 4R is at temperature 2T,
The rate of absorption of radiant energy by the outer sphere is

(0 1s Stefan-Boltzmann constant)

DO D80S Fersd Sy SYE AN 590 HBKEI00d. aysrdo R
o o Ferss §0e0aa) k|65 T 690 aB05M 4R aX§RG0 Hie) Fedd)
Filgrsee) Eadadna) Eoalitied 2T o5& &) Q. 2rars Fo 8w 389 10T Bew
(6 93O AS-5'S &S Vor0ko)

2T.4R

Options:

1.« donR*T?

2 % SonR*T*

3 % 160onR*T*

4. % 64oTRT?



Question Number : 96 Question Id : 3838232496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Three identical rods are joined as shown in the figure.

D0’ 5P DO 2,8 BEZ0 Sarchy E@EN BSTOHAGOW.
%°C
0 l'.'l( ]

2°C
The left and right ends are kept at 0°C and 90°C as shown in the figure. The

temperature 0 at the junction of the rods is
D0 TR DO ehedd HBCKH & Taden 0°C SHBAW 90°C N

SOSAGFW. §36 H0O S &af(Kie 0 =

Options:
1.« 60°C
> % 45°C

3. % 30°C

4. % 20°C
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The gas that gives the highest fractional conversion of heat to work in an isobaric
process is
2969 285 (DBOHES’ 10 DO DA 5B 2370 S78)A ©0B0T

ROV
Options :

monatomic gas

| v EHBEITEE TSN

diatomic gas
5 % QJDOITENE I*A50)

polyatomic gas

3 % 203V BITENE I°AINY)

all types of gases give the same fractional conversion
4 % O 557 FANHEN 2.8 TS0 I8 ) B ©OoOHION
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If the average speed of molecules of an ideal gas in a container is doubled and the
volume of the container is halved, then the increase in the pressure of the gas is
28 FSSR B8 TN DY HieD FHo BEJ0%) T, (e
05087008 PRAE SHOD, FOWY BSOS DEHE

Options:

1. % 100%

2 % 400%



% 800%

4.+ 700%
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A and B are two points of a string, in which a standing wave of wavelength A is set

A

: : . -
up. If the distance between the points A and B is 7 then the phase difference

between A and B 1s

SEONTS0 A 50 DS SBOH0 BB 2.8 i3 A HON B Bok Hochuyen.

"

A 5005 B Dothye Sds o %" 9008, A $00% B s ST7S0

Options :

s
1. % 3
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Consider the wave represented by the equation y =(0.02) sin (nx +8xt), where all
quantities are in SI units. The wavelength and speed of this wave respectively are
y=(0.02) sin (nx +87t) DaEBEI0 T 50" AFDOIAT SEOmR) HOKeIod0d,
28,6 @) T7HEN SI NSFEFOES &) on. & SSoro B, SEoKBEEs0
0808 50 SGJM

Options :

| »2m, 8ms”

5 % 2m, 0.02ms™

5« 0.02m, 8ms™

4 % 4m, 8ms”
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A convex lens of focal length 20 cm is immersed in a liquid of refractive index 1.3. If
the refractive index of the material of the lens is 1.5, then the focal length of the lens
when immersed in the liquid is

20 cm 72RO E0 K0 2.8 50027SE EEESN 1.3 S8 thea%o EORS 2.8
135065 00T, $6250 T Y S(8BSS HE80 1.5 oNs, SHTR)
1390 S00DJ))E T 2rs0S80

Options :

1. % 20 cm

2. % 35 cm



3.« 65 cm

4. % 40 cm
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When a light ray icidents on an equilateral prism, the angle of mmimum deviation 1s
found to be half of the angle of prism. The refractive index of the material of the
prism 1s

28 D020 DQE0 2.8 5°08 88690 DSBS I, A IO Eea0
HE8 06’ i EDFSRAIE. @00 8 HEriy H8285 theado

Options :

1. % 1.5

3. %3

o2
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In Young's double slit experiment, the wavelength of the monochromatic light used is
A, the distance between the slits is SA and the distance of the screen from the plane of

the slits is 100 cm. If the maximum intensity on the screen is [, then the intensity at

a point on the screen which 1s at 5 cm from the central maximum is
0%00 208 DOF NTFH0S’ ENTPAODS ESY 508 S$S0EEs0 1, DO
05 Ardo 51 SHBaAH WOZL B0 oG B8 Tng), Crso 100 cm. BED

185 B 1, 0w 882 30(¢ #1820 08 5 cm ErdosS &) 2.8
A AN PN

Options:
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Sixteen point charges each of charge *q’ are placed on the circumference of a circle of
radius ‘r’ with equal angular spacing. If one of the charges is removed, then the net

electric field at the centre of the circle is (€, is permittivity of free space)
285,63 ‘q 390 e DA Dotk eFTen DT Eedah wossod
TG0 OB 28 5980 T}, B0 GOBDIFTON. HITOS 2.8 PN
FON0DY, S F0(30 SO )T G IS 30

(€, VSIS0 03¢3)



Options :

14q

;
1 % Amer

16q

5 w 4me.r

2

q
3 -flrm‘,ﬂr2

q
;
4 % 2MET
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The radii of two conducting spheres A and B of each charge +90 uC are 8 cm and 10 cm

respectively. When the two spheres are connected by a conducting wire, then the charge

flowing from sphere A to sphere B is

252563 190 uC 6330 K A HO0N B ©F Boch F%r8 AFane FRrgren

S 8 cm OO 10 cm. Boch Ferernd 2.8 areré 8 o soe $OD, figo A
008 A0 B % 8T 00 8390

Options :
| % 15uC

, % 30uC

3 » 10pC



4 % 45uC
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The relation between the charge Q (in coulomb) passing through a resistor of resistance 200
Q and the time of flow of charge t (in second) is Q =3t—4t". The total heat produced in the
resistor up to the time when instantaneous current becomes zero is

D80 200 Q e 2.8 AFLBE0 & 50° (NaroHN) DS &390 Q (Srensd &)
0050 B0 (NP0 0 t (V8o &) His Hoodo Q=3t-4t*, &§ s
NCIS (DaTHP0 AT OGNS OO0 SB5) AN S0 S e G

Options :

1.4 225 ]
2. % 2001
3. % 450 ]

4. % 400 ]
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A cell of emf?2 V is connected to an external resistor. If the current through the resistor
is 200 mA and the terminal voltage of the cell is 87.5% of the emf of the cell, then the
internal resistance of the cell is

2V emf 60 2.8 S0 2.8 2778 AFRESNE EendadSd. ABG%0 o o
DS (HFET0 200 mA SO0 e BEINO S8 o emf & 87.5%
o0, NE0 @0&8) o

Options :

1. % 1.50Q
2.¢#1.25Q
3. %20

4. % 2.25Q
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A galvanometer of resistance 99.9 Q gives a full scale deflection, when 5 mA current
is passed through it. The resistance to be connected to the galvanometer such that it

can be converted into an ammeter of range 0 -5 A is

99.9 Q D0 e 2.8 o) 08B T 507 5 mA DS (DaTsT0 &) )C oJ°0
P00 B3TSS0 BrRN08. e sl & 0 - 5 A BoF Ko 2.8 @a0td
St )80, TR E0N0 A0

Options :

1, % 0.01 Q

2. % 10 Q2



3 %180

4.+ 0.1 Q
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A current carrying wire 1s first bent in the form of a circular loop and then bent in the
form of a square loop. The ratio of the magnetic fields induced at the centres of the
loops in the two cases is

DS (DT K6 2,8 S0 FNEIE) SYTSE O I SN0 SRR
O TP S0, BO H0BEISNOES 7¢3 To|GSN® ¢ @0HR), 08

5 (Sae) A )e

Options :

7

T

NG
_
2. v 82
B
3% 2
4% W2
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A paramagnetic substance in the form of a cube of side 3 cm has a magnetic moment

of 243x10® Am’, when a magnetic field of intensity 150x10° Am™ is applied. The

susceptibility of the substance is

150x10° Am™ (56 K> ©aHr) 08 T Ssn 243x10 Am? e9a%) 08

276080 10 3 cm 2920 KO TTE0S’ &) 2.8 FT AN HErPo

@000 TS AN, HETPsY TRRNOES

Options :

1. % SXIU_S
> % 12x107°
3 v 6x107

4 % 3x107°
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A coil of 100 turns and 0.10 m® area, making two rotations per second is placed in a

0.01T uniform magnetic field perpendicular to its axis of rotation. The maximum
voltage generated in the coil is

808 Bock (5aeen TATN), 100 LY, 0.10 m* FF©50 o) 2.8
SITSE SHNED 0.01T E6S 90D, 065 § (06 TN (DTS
0RO GO, 1 L B0 55 8 eodhs ST

Options :



7.% 0.1V

2.% 1256V

3.v1.256 V

4. % 0.628 V
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Resonance phenomenon is exhibited by a circuit only if

T Bl ST (D80T 2.8 OO o)

Options :

L and R are present in the circuit

1« L 080w R Sr(edad oyomd

C and R are present in the circuit

, % C 0805 R S Homd

R and Z are present in the circuit

3 % RDOAW Z (¢ Yozd

L and C are present in the circuit

4 v L 0805w C (¢ Hozd
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The physical quantity which has same value for green light, 7 -radiation and X-rays is
B5HY) 508, 7- D880 SO X-88reeS 2,8 Dend $ORS (TB503

Options :

frequency

| D98RS Sa50

momentum

5 % (B350

wavelength

R - [eleliiaiel{e

speed
4. ¢ G
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A photoelectron emitted when a light of wavelength 2480 A falls on a metal, enters a

uniform magnetic field of %xlo * T perpendicular to it and moves in a circular path

of maximum radius 1 m. The work function of the metal is nearly

2480 A $8053850 o> 508 28 €SP0 aded B IH DSBS HF¢’
AT ix 107 T 5088 ©90Hr,08 380 SR8 ©020mr (NS00 1 m

505 a5 0 K0 S9SE 88 5 (DOSFEIOT. S0 TEY A (A0
AT

Options :

1. % 245 eV
2. ® 3.45eV
3.« 4.45¢eV

4. % 1.45eV

Question Number : 115 Question Id : 3838232515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If the total energy of the electron in the ground state of hydrogen atom is ~13.6 eV,
then the potential and kinetic energies of an electron in this state respectively are

Srrond 68) IPERS DESTEYS R JOTS IS0 4§ 136V wans,
& TONS GR) JO|TH V8 HOAM K2 $8en S

Options:

27.2eVand 13.6 eV
1. % 27.2 eV 0805 13.6 eV



—-13.6 eV and —27.2 eV
2 % —13.6 eV o080 —-27.2 eV

—27.2eVand 13.6 eV
3 ¢ —27.2 eV o0 13.6 eV

27.2eVand —13.6 eV
4. % 27.2eV 0803w —13.6eV
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If a substance decays from 32 g to | g in 25 days, then its half life is
28 D00 32 g 0B 1 g %0 § a0aerdd 25 Bzren HEN, o e 2 0

Options :

3 days
1 % 3 8aren

4 days
). % 4 Beren

5 days
3. v 5 Baren

6 days
4. % 6 &Faren
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Reactor used to produce fissile material is

TN DT EeedIed TANEE G&OrA0T O0SrEd
Options :

batch reactor

1w 250 BASrES

breeder reactor

5 v |0BE BArED

chemical reactor

3 % OPOD 8580

pipe reactor

4. ® ﬁ“ﬁgo @Cﬁ?iﬁ
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The energy gap between conduction and valence bands of silicon 1s

2O5S B TTE DB HOTFEE DE3e) 038 &) 38 0SS0

Options :

1. % 5.4 eV

2.+ 1.1eV



3. % 0.7eV

4. % 1.4eV
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The current gain of a transistor in common emutter configuration 1s 45. If the
resistances in collector and base sides of the circuit are 4.5 kQ and 900 Q, the
voltage gain of the amplifier is

G028 GO DTI0S EONAAN 28 (EFDIVE (DaTiPE S8 45. DESES
208050 B30 2 SOATFOS’ &) ABTEN SHIT 4.5 kQ HOAN
900 Q 0N G50 T2 59&

Options :
1. % 90
2 % 150

3.« 225

4. % 135
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The height of a transmitting antenna 1s 320 m and the height of a receiving antenna is
20 m. The maximum distance between them for satisfactory communication in LOS
mode 18

(Radius of the earth = 6400 km)

28 (DG S0BIT) 2 320 m HOO 2.8 (MrE SOBT) N 20 m, LOS
DOBS’ & BoB0E3 1895 NOSYNEERN (DRG0 ER0 GOBHONS 1B
&rdo

(Srarsardo = 6400 km)

Options :
1. % 16 km
2. % 64 km
3.« 80 km
4. % 45,5 km
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Which of the following gives proof of quantized electronic energy levels in hydrogen

atom?

808 FES A WEES HESTEWYS 5063886350 ToAS JOFIE 4§
TONENTY AR NETNE BOA?
Options :

Atomic spectrum

| v DESTED SBHEIZN

Photoelectric effect

5 % 5708 NS HOSAN

Emission of blackbody radiation

3, % E )20t 85 TS

Davisson — Germer experiment

4 % BIDS — 23835 (DT
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What 1s the energy (in J) required to transfer the electron from n =1 to n = 2 state in
Li** (K = constant =2.18 x 10"* J)

Li* & QOIFS on=180081n=2% 200 Famesh sdeds (o &)
0S? (K =0°08am =2.18 x 108 ])

Options :

ak
1. % 27

> % 9K

3 = 8K

27K
4.¢v 4
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Match the following

1BOA a7¢3Q 225D
List -1 List —1II
e — 1 e — 11
Element Atomic radius (in pm)
SarerEssn HESTED G0 (pm ©S' )
A Na | 152
B Li II 99
C Cl [11 64
D F 1AY | 86
The correct answer 1s
N SINESINV A NTe)

Options:



1.« A-1V; B-1I,; C-1II; D —1II

, x A=1V; B —1II; c-I DIl
3 x A—TIL; B—II; C-1 D-1V
4% A=1V; B —1I; C-1 D —1II
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The electronic configuration of four elements are given below

") NPOTO) DO TR e (508 B SAF0N
[He|2s"2p [Nel3s"3p’ [He|2s"2p’ [Ne|3s"3p’
| [l I Y

The correct order of magnitude (without sign) of their electron gain enthalpies is
T OIFR (M50 D8P0 © (D8 Thom) 93§00

Options :

L I>TI>TV>T

5w I>1>HI>1V

3w I>1>1V>11

4w I>T>IV>TI
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[dentify the sets containing isostructural molecules from the following

1808 €3 H0G Dad NT"269 BENHON EQAVA) DD 8030k
L. SiF,, SF,

I 105, XeO,
. BH,,NH,
Iv. PE, SK

The correct option is
Q8 0830
Options :

I1, 111, TV only
1w ILIL IV S3(ed 3

I, 11, 11T only
5w LIL 1T 8753

111, IV only
5 x LTV Se(ed3d

I1, TV only
4 % 1L IV S
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Which one of the following order is correct regarding the covalent character of given
molecules?

259 52280 ©9ENHO NDTWrBAH ©F 890 % N02080D (808 5o 6
HOTIE?

Options :

1. % KF > KI

5> % SnCl, > SnCl,

3.v LiF > KF

4. % NaCl > Cu(Cl
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At T(K), three moles of an ideal gas is present in 10 L vessel. If the kinetic energy of

an ideal gas is 3000 J mol!, the approximate pressure of the gas (in atm) is
T(K) 56 3 306 © 2.8 edS)aroing 10L ared & &) 8. 88 )arang
323 38 3000 J mol” 900N & AN GBS (atm ©) ST

Options :
1. % 59.2

2.« 592

3. % 0.592



4. % 11.84
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A hydrocarbon containing C and H has 92.3% of C. When 52 g of hydrocarbon is
completely burnt in oxygen, x moles of water and y moles of CO, were formed. The
liberated water is sufficient to liberate one mole of H, when reacted with sodium metal.
What is the weight (in g) of Oz consumed? (C=12u;H=1u;0=16u)

C SH08050 H e $OAS 2.8 3 ETE)S S 92.3% C $0. 52 g © IETE)S

5 e38)238 & 0 Girdo BRSHH x IS © A HBAW y IS © €O,
) DSBS, BBV B, FA0HO 570 & 18508 2.8 IS Hy A

DR ToGOH HBFS0B. AATFHRS 02 P80 (g © &) D0S?
(C=12u;H=1u;0=16u)

Options :
1. % 30
2.+ 160

3. % 240

4. % 320
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At T(K), a vessel contains V litres of an ideal gas. The vessel was partitioned into three
equal parts. The volume (in L) and temperature (in K) in each part are respectively
T(K) 56 2.8 PSSV A& 2.8 683700 6318, TS Sarch H8r
2PN DSB8, (96 270 N8P0 (L © &) B0 ég¥|fdsen
(K © &) S8

Options :
Yy L

1.% 373
LAY

2.¢# 3

3. % 3V, T
E,BT

4.% 3
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Identify the reaction for which K;, = K.
Kp = K @338 25850 (H8 0050

Options :

1w (2)+2B,(g)=A,B,(g)

9 % 2A, (g)+ B, (g] =A,B, (g)

3 » A:(g)+B,(g) =2AB(g)



4 % (s)+B,(g)=C;(s)
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What is X in the following reaction?

80& B85S X DE?

CO(g)+2H, (g)——>CH,0H(1)

Options :

1.4 CU

Mg/dry ether
5 % Mg/eré &0

B'QNE

4. % Mo,O,

Question Number : 132 Question Id : 3838232532 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of products formed by thermal decomposition of lithium nitrate, sodium
nitrate respectively are

OH0HOZ DS, FAHOT(BE © GaNNLN0 & 231 (§osraarse Hows
Ao VN0

Options :



1.% 2,3

2. % 2,2

3.% 3,3

4,432
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Which of the following statements are not correct?

1) BeO has rock-salt structure

11) BeSOy4 1s readily soluble in water

111) The maximum coordination number of beryllium is four
1v) Be(OH): 1s basic in nature

1808 F5DLOS’ DD DO 5% ?

i) BeO T°5 - &r9 Q02690 D50 &

ii) BeSO4 De3eS° ¢ ¢Beb t9e3cS 00O

iii) Z36OADO 8a) D O DOPS TN
iv) Be(OH)2 5°8 (D393 tie>&

The correct answer is

HBS DSFETS0

Options :

2. ¢



i, iv only

i, iV e°(Had

i1, iv only

3 % dil, iv (S

1, i1 only

4 % 1, 1 (S

Question Number : 134 Question Id : 3838232534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Observe the following compounds/ions

H,BO,, [ B(OH), | , BH, , (BCl,-NH,), SiO;

The number of compounds/ions with tetrahedral shape 1s

1808 I PN/ AT © & HOFOO0TIHM
H,BO,, [ B(OH), | . BH; . (BCl,-NH,), SiO}"
BT SO @35)ed (10 D FTre)/ AT © DO

Options :

1. %35
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Which of the following sets of oxides are correctly matched?
1) S10,, GeO, - acidic

i1) SnO,, PbO, - amphoteric

ii1) SnO, PbO - basic

The correct option is
1808 & @838 Dabed e JOM 23¢d TONWRIN?

i) Si0,, GeO, - 3o
ii) SnO,, PbO, - &5 527°9
iii) SnO, PbO - 528
QOB W80
Options :

1, 11 only

| o 1y 11 (S

i, iii only

5 % 1, 11l S

1, 11, 111

4. % 1,11, 111
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Which radical is responsible for depletion of ozone in stratosphere?

(P80 SR 48" SHHGOZ TEIRS (FPSNEE (radical) IE?

Options :

1.v Cl

. « CECI
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The number of benzenoid and non-benzenoid aromatic species present in the following
list are respectively
Naphthalene, Toluene, Cycloheptatrieny! cation, Anthracene

808 e S ) BoRTonE OO TS BoSToNE SFSrES rehe
Q0 ST
TAOS, O, RETT RSO FLAFS, BOGRS

Options :

1.v 31

2.% 2,2



3. x40

4.% 0,4
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The TUPAC names of the compounds A and B respectively are
A 8050 B N30 8> TUPAC &350 oSS

OH
5/\/ ZH!\‘H:
(A)

(B)
Options :
(A) (B)

I-Propyl-2-isopropylcyclopentane 3-Hydroxycyclopentanamine
% HY RS 2- 0P @S RER0DS 3 TEE) REROLIDS

| -Isopropyl-2-propylcyclopentane 3-Aminocyclopentanol

, v |- PP DS2- DSV ODS 3-89 DS REDoHSS

| -Isopropyl-2-propylcyclopentane 3-Hydroxycyclopentanamine
o % - P FE2- TS RTN0DS  3- @SR V0LSDS

|-Propyl-2-isopropylcyclopentane 3-Aminocyclopentanol

4w 1- DS 2- P DS VEVODS  3- ORI REN0HSS
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0.1435 g of silver chloride was obtained from 0.0945 g of an organic compound by
Carius method. The percentage of chlorine by weight in the compound is

(molar mass of AgCl=143.5gmol™)

S00DR P8 @ 1T° 0.0945 g © 2.8 ) O FI0 o 0.1435 g © v
§86 ©D0N0B. 53080 &' §6S eréTeso

( AgCl Irerd |B503 =143.5gmol ™)

Options :

1. F ]8.9
5, v 37.6
3 % 24.9

4 % 56.7
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In the following reaction sequence X and Y respectively are

1BOB 9o E00 €' X B Y eSS

Br Y
NN X > ot = Major product
773K anhy. AlCl: (29 &b ) 0
10-20 atm @_g;}'ﬂ@

Options :
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The diffraction pattern of a crystalline solid gave a peak at 20 =60°. Its ‘d” value is

.54 A. What is the wavelength (in cm) of X-rays used?
(sin30°=0.5, sin60° =0.866,n = 1)

28 9838 205050 DG SFTES’ 2.8 FDE (peak), 20=60° 5 ©DON0B.

T ‘4 Dendd 1.54 A, GTEPA0DS X-8860 8801 BES0 (em ©F) 0eS?
(sin30°=0.5, sin60° =0.866,n =1)

Options :
1. i’ ].54

, % 8.89x10”

5 % 1.54%10°



4 v 1.54x107F
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The concentration of 1 L of CaCOs solution is 10 M. Its concentration in ppm is

(Ca=40u; C=12u; 0=16u)

| L CaCO; (5695 trches 1075 M. B rrched ppm © &
(Ca=40u; C=12u; 0=16u)

Options :

, % 10
5 % 1000

5 % 100
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The following graph is obtained for KCl solution at 300 K. What is r\;l, (in Sem’ mol ']
of KCI?

[x-axis = [KCI]"'E; y-axis = A, (Sem® mol™)]

300 K ¢, KCl o760 %0 808 (D ©Dodod. KCl g A, (S em? mol”
&) ¢5) 0e5?

(x-®80=[KCI]'*;y- ©§0= A, (Scm? mol ™))

v

150

50 4 &mﬂm

Options:

150
1. % 90

2. % 90

3 % 150%x90
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Identify the correct statements from the following

[. The order of reaction is determined from experiment only

[I. The order of a reaction can be zero, positive integer or a fraction

[1I. In a multistep reaction, the slow step determines the rate

1808 &3¢S HBTS 5w Hdotsod

L. 585 (8308300 |DTFred 50 P o) EeFdedtdd Jad

I1. 2555 ($3r08adn s, aTreh 8 DORDS B ") 050 &0t
[11. 2530 0T B3 FOM 28 @0, B ATEN0E

Options :

1w LIL I

I, 1T only
5w LTSS

I1, 11T only
5 = 1L 1T &S| €83

I, 1T only
4 % LTS3
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The following graph is obtained for the adsorption of a gas on the surface of a catalyst.
The values of k and n are respectively

: . X
(x—ams =log p ;y—axis = 1gg(_]]
m

28 68552 &00$00 2 ©OT N0 Tod Ak 0 (308 (D ©Do0E.
k DOAIW N eI BT

(.\'—axis =log p ;y—axis = lug('—rD
m

y
4 e
3 ~~1—==Slope=m
o P
]
- X
Options :
5
1. % m
2.3
2. % m
100, -
3. m
4 % 100, m
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In which of the following metal extraction, CO, is used?
1808 Q &' AN BeaeS’ CO, & SHBVrATE?

Options :

1. % Cu
2. % £n
3.33 FC

4. v Al
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The oxide of nitrogen, ‘X" is a blue solid and is acidic in nature, ‘X" is

B RS 83)8 X’ 28 O s0NTF0 HBOIN €3 (99 0B, ‘X’ ©9d
Options:

1. F N:04

2 N,O,

3, % Nzoﬁ

4. % NO,

Question Number : 148 Question Id : 3838232548 Question Type : MCQ Option Shuffling : Yes
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Observe the following reactions (not balanced)
Cl, + NaOH — NaCl+ X + H,0

{ froar, conet)

Cl, + NaOH — NaCl+Y +H,O

{ conded . dlifuete )
The oxidation state of chlorine in X and Y respectively are
1808 85X D800G (550 TONDESED)

Cl, +NaOH — NaCl+ X +H,0
(38, med)
Cl, + NaOH — NaCl+Y +H,0

(B, DOS)
X D80 Y © & §8S e38 3188 Dehen SEOm

Options :

1.23 _]..‘I"[

2w4?+5,+]

3.33 +].,—l

4. ® +I,+5
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Which of the following is not correct?

1B0& ¢35’ O JBIA 5°¢?

Options:

1.4



XeOj is a colourless explosive gas

XeO; S0MHBR e 52700 fie) 0506

SO, is highly soluble in water
, % SO, De3S’ DBy S EEHS0E

Noble gases have very low boiling points

3 % G5 9m AN 5 2 IS T O EE) oo

The boiling point of sulphur is more than that of oxygen

4 % 88)BS 0T 305 2N )YBSS TS0 0y
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[dentify the oxidizing reactions of KMnO, in acidic medium

I) Liberation of iodine from KI

[T) Conversion of Fe*' to Fe'

[1T) Oxidation of nitrite to nitrate

V) Oxidation of iodide to iodate

35D O5rs%0 & KMnO, es§ 88 25850 oo

[) KI 08 o3BrasS & Deocser Tahoe
II) Fe** & Fe¥* m 3r&)&
1) SIBE & B ™ es8 )80

IV) ©B0BE D 0oB0BE ™ e38)1560t0e
The correct option 1s
Q0N DWHS0

Options :

1. %



1, I11, TV only
1, II1, IV S5°(e530

I, IL, IV only
5w LIL IV Sredad

I, ITI, IV only
5 x LIL IV Seedsd

I, 11, IIT only
4 o L IL T S8
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The set of complex ions having same number of unpaired electrons is

N 023 ¢S BSHTER JO|FS ©ed EOR AN H0Fa) OATS © N

Options :

.« [FeE,]™. [MnC1]™
, « [CoE]", [Co(C,0,),]”
. »[MnCL]", [CoF,]

, « [FeE ], [CoF,]”
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A polymer contains 800 molecules of molar mass 1000, 100 molecules of molar mass
2000 and 100 molecules of molar mass 5000. What is its number average molecular

weight [E)’

28 arO0 &S @e2180 1000 He) eens)e 800, IGO0 2000 o> enHen
100 0O @200 5000 10 LENYEN 100 &™) 0. TR NN oS
P00 (M, ) DOS?

Options :

| w150
5 % 15000
5 » 1500

4 = 150000
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The vitamin that can be stored in the body and whose deficiency results in disease

2,8 DS 3880 & A § GoEN0A HOOIN TR SN0 S EOT 50

Options :

Scurvy

1 % 030



Rickets

Convulsions

3. % Sendo 8ro

Beri beri

4. % 230 230
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The drug which is obtained from opium poppy and its use are respectively
2,00 272 H0G ©DOT O SO TR GHTFHN SET

Options :

Heroin, antiseptic

| % OO0, ASroe3 S

Codeine, hypnotic
5 % ST, ) ¢38

Morphine, analgesic

3 ¢ PO)IR, TS BIS

Aspirin, analgesic
4 % BVO], IS 28
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Hydrolysis of an alkyl halide X (C,H,Br) follows second order kinetics. Reaction of

X with C;H,Cl in the presence of Na/dry ether gave Y. Oxidation of Y in the presence
of KMnO,/ OH gave Z. What are Y and Z respectively?

28 8BS FBE X 203000 (CH,Br) OB (§Sros K8E (TR
BB, Na/srd &6 30808, CHLl & X $585508 Y Q ad)0d.

KMnO, /OH 0080 S Y e38)86620 Tod Z o 238)8008. Y 000 Z e
AT D?

Options :

o> &
1.4

| @cm}{
2. %
@,\/ COOK
-
3. %

ot ot
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A carbonyl compound X(C;H,O) on oxidation gave carboxylic acid Y(C;H,0,).

Oxime of X 1s

28 50)3S a0 X(C,H,0) &8)38e0 Bod 5707815 esebo
Y(C;H0,) Q 3d)od. X GBng) e300

Options:
. » CH,CH,CH = NNH,
, » CH,CH,CH = NOH

. = (CH,),C=N-NH,

, « (CH,),C=N-OH
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Two statements are given below

Statement I:  The boiling points of alcohols increase with increase of branching in
carbon chain

Statement II:  The solubility of alcohol decreases with increase in size of alkyl group

80¢) Boch a7 §2580 Qe SR

Tl 80RFSO $8)S §309008 FRen NOT §O ¢ OB
e wdhEron

Tsll:  soprSe S 88O ST HO0SrR0 NOT 5§ ¢S
[HE3090e SHe0d

Correct answer is

DO Zaranad Hdothdw

Options :

Both statements [ and Il are correct
1 % o5 1 aDBAW a7§d§ Il BOLT SOQD

Both statements [ and Il are not correct

5 % 0° SRS 1 0O s I BOCI® DO 5%

Statements I 1s correct but statement II 1s not correct
3 % °$D5 I QOB 5 50§ 1 SO s°¢»

Statement [ is not correct but statement 11 is correct
4 v 55 I OOV 520 5% 3§ § I SO
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Match the following carboxylic acids with their pKa values

1808 520°)8 108 &30 a°¢3 pKa Densserd 3500
List I List 11
2T - | e - I
A. | CH,COOH |1 [0.23
B. | CCH,COOH |1 [4.76

C. | CRCOOH |l [4.19

Correct answer 18
QO 2353720

Options:

| % AL, B-1, C-III
, » A-ll, B-III, C-I
3 % A-l, B-III, C-II

4 % A-L, B-II, C-II
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The major product of the following reaction is

1BO& BB (DTS €5¢535)0

Osor B ‘i
CH3;COOH

Options :

1.¢



2y
Br

O~
Br
2. %
O \l/
@/ Br
3. k3
Br
O S
Br
Br
4, %
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What are X and Y respectively in the following reactions?
808 BB5ES” X SHOAN Y €1 SEI™ ?
NH:>
Br: | H2O (1)(CH3CO)20, Pyridine
(1) Bra, CH3;COOH

Y = 3 X

Options :
1.



Br
’@,NHCOCHs ﬁl\mz
b
Br Br Br
NHCOCH: NH:
WK
Br

ﬁm&coc& ’@» NH:
b
Br

Br

@ NCOCH: > @



